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?2: UHFMHE == (&)
SA - BB B () - MM - BES Ol &t o San HmEET
NE 1,144,852 1,081,191 63,661
M A 2el 1,015,291 910,115 105,176
N==THE &8 1,015,291 910,115 105,176
SEIUM 2 512,572 385, 266 127,306
101 @124l 62,603 55,761 6,842
04 D12t 22 HEE = 62,603 55,761 6,842
OXZA HIOAl, ZHHA LHMEA AFFCIR 22,656
— o= 45,0003 ~6H x64 17,280
— 2HAlH| 2,000 3 «6H «64 L +23] 1,536
- &5 45,0003 6«12 3,240
— WSl 50,0003 x6H +23] 600
OXYg HSEM AIGR 15,966
— o2 45,0003 «6H x44 11,880
— ZHAY| 2,000 «6H »44 2 23| 1,056
—F5d 45,0003 x6H x0 2,430
— n Sl 50,0003 x6H *23] 600
OEX, A=SSLHEAM AIFL 18,792
— o2 45,0003 «9H «37 14,985
— ZHAY] 2,000 *9H +372 23| 1,332
— T4 45,0003 x9H 5 2,025
— WSl 50,000 x9H 12 450
OXEA HIA, [SXHA, EX.IIS 212 2
sz 5,189
=0z 23 44,145,000& *4.5% 1,987
—d2dBE=E BEE= 44,145,000 *3.04% 1,343
- 12282 83 44,145,000& *1.5% 663
—MTHEEE RE3 44,145,000& *2.508% 1,108
— LI RAEEERES
1,343,000& *6. 55% 88
201 LB-2d| 240,936 202,752 38,184
01 At 2t 2l 105,093 90,258 14,835
O e8| 82,273
—OCRHUIOIMZEE HERIXN FL (XM &
#g) 237,000 +8CH »32] 5,688
—0CRLXIM £8E8 HEZEH A28 F(
EH S 98) 1,800,000& »12& 21,600
— XA DXAM ESY =22 (SHAE)
500& *40,000AH 20,000
— NN DN 258 S5 ME
50& %135,000AH 6,750
— XA 23 dibHel X+ 23,035
- S5AM 2XA 37,2903 88 A+ 123 3,580
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Eel: A= &2 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
- NI AFA 44,0003 x4t A +12E 2,112
g SH2XA 39,1603 220 A 8,616
LR DM 37,2903 88t A 123 3,580
SHASE SHFDAA
42,8903 1208 & 5,147
— NN G E2LS HOIZ M
100,000& *23] 200
— HEIA WA EHIIE M
50,000& *109H £ 500
— MAAl, XS XAl RS ScHotE WA
50,0003 *6 I A *2F *23] 1,200
— FOIN DA EIHE M
50,000 *6IH 2 300
—XFE FHSAM A DGR elF M
200& 15,000 0K 3,000
ozg=¢ 1,820
o Y LI P
70,0003 x6H +23] 840
~JIRAANSIRE BHLY
70,0003 +x7H +23] 980
OJHA A EE B AIAE S/W 2 11,000
OJt&AHE M 2SS MM WM 2 0BMS S el
= 10,000
02 =224l 135,843 112,494 23,349
Oz&22= & HA 108,000
— A2 XYM DIALdsEs SI|IH
2,700& 20,0004 54,000
—ANEHIXN(HIZ2) L SRAUHE 25
Yotemz 270& x200,000AH 54,000
OA&EHl s Xl 17,710
— U dodZeH RXE+H
114,000,000 & *5%*1. 1 6,270
—NLNSER HAANAE SXNE
11,440,000& 14 11,440
O&AIZ Jt&HE =HAIAE |FXNE 10,133
—Jt&AS =EHALE 29
9,053,000& =14 9,053
—GHolH(B)Y 53 29 1,080,000& 14 1,080
202 Oddl 45,965 0 45,965
01 = LH o4 1l 45,965 0 45,965
OXNENEFHE =& bl
273,600& x14H x 123 45,965
204 AR A H| 61,200 57,600 3,600
03 EZ YA 61,200 57,600 3,600
ONSREEZ2H 100,000 x51H »12& 61,200
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Sl NEWR =2

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 1,790 5,790 A 4,000
11 JIEtE A= 1,790 5,790 A4 ,000
OSMIIY GHZE NYASH SEIS D2
= 6,000,000& *5% 300
OX AN SN oA ME 7002 «700H 490
OX A HSAa MR 2FAFIH M &
100,000& x10H 1,000
303 ZAZ2 5,000 5,000 0
01 Za32 5,000 5,000 0
Og=, 24N® 22 243
30,000,000 x5%*23] 3,000
OEX, A5= LHXZAI L&A=
40,000,000 *5%* 13| 2,000
306 =2 12,831 13,026 A 195
o1 s 3 12,831 13,026 A 195
OXYMHARRH sHZ2
B E AN Z A 85 539,942,000 *0.015% 12,831
403 XX SHHS K20 & 62,247 32,337 29,910
02 ZII2S0CHeCH& AFS I 62,247 32,337 29,910
OEZF ANYANEBAALE SAE 50,747
— XNENEEAAEY 299 36,042,000 x13] 36,042
—SSNLHMEEAAE 2H (wetax)
13,405,000& 13| 13,405
— BHNESAAE 29 (wetax)
1,300,000& *13] 1,300
OXZAH HEE AdSTAAE 2H
11,500, 000& 13| 11,500
405 XHAFFIEHI 20,000 0 20,000
01 XAt 2 E F S| 20,000 0 20,000
OJIAH Z SHHAAIAE Q] 20,000
HAHEo S 18,780 32,420 A 13,640
201 et 18,780 23,780 A5,000
01 AP 22| H| 18,780 23,780 A5,000
OgttL24| 17,660
— X2A oY AZEIE B8 =52
100& «50, 00024 5,000
— XA JIAMAHZE §8 =42
80 *150,000AH 12,000
— NN ABI}IC SHOLI| ABSSR
11,000 =50 x12& 660
osd44d 1,120
—HHNRESRE B 4
0,000 *8H x23| 1,120
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ool MEWY &2 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Megzel E2X 284,306 302,639 A 18,333

101 @124 dl 16,134 15,619 515
04 DIt 22 XREES 16,134 15,619 515
OMEXE HSEIX EX 16,134
—Jl=s 45,0003 18 «252 11,340
— ZHAY| 2,000 «251ed 1 %23 1,004
— T4 45,0003 «1H 52 2,340
— WSl 50,000 «1H 128 600
— HE S0 200,000& »23| 400
—Qx=g 45,000 x10 450
201 L2l 134,696 140,204 A5,508
01 At 22l 28,436 29,258 A 822
O e8| 28,436
— XA MW G20k EdtE(L) ME
50,000& *200H 2 23] 2,000
—==1 42,900 128t A+ 128 6,178
~ =88 AN 7
42,900 128t A+ 128 6,178
—XNgH HEER =8 =2 11,300
WHYE SIH=S 242
2,000 «6021 x23| 12 2,880
sllgs =8 1,200& x50 128 720
MEXy 2 2S84 BoH222
470,000& = 10CH 4,700
CHHELE UL HE 42
3,000& +1,000A 3,000
—HEg HSEHIX 37 & =44
20,000& 24 & 480
—XNEA Mg SEMHL X3 SE &2
2,000& 35021 23] 1,400
—HENE s E JEESEF S
10,000& »90CH 900
02 =224l 106,260 110,946 N4,686
O3 & HA 100,980
—NYH MEDNA SRS 25 Lue
HE 270& *200,000A 54,000
—XNgA HEXN SFET 285 SIRES
2,700& 1,300+ 12& 42,120
— KNEA M Ha & HALF WISX
N 28 SIRER 2,700& 15024 x12& 4,860
OA& & HlI S X bl 5,280
—HEZESEANLE RIS
440,000& x12& 5,280
202 O4dl 54,816 82,656 A 27,840
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el

MIE
A W& 2el

NEWE &2

SA - BB B () - MM - BES Ol &t o San HmEET
01 = LH o4 1l 54,816 82,656 A 27,840
OXEA UHAXRZE A L MENH 0]
20,000 «20H «83| «12& 38,400
OXNEAN 2UXE A Y MEH E
273,600& x5H x12& 16,416
301 L2 A= 2,700 2,700 0
11IIEBEAS 2,700 2,700 0
O30 & IXXE 3 24| 2,700
— S ZHAL FAE B4
270,000 »10CH 2,700
303 &3 30,000 35,500 A5,500
01 L& = 30,000 35,500 25,500
OXSXA MEXe Haih IX R 24
= 5,000& *3,000CH 15,000
OMNEE XA HEH Aoz
1,500,000, 0002 *1/100 15,000
403 MXISHE =01 25,960 25,960 0
02 SO 2SI CHSHHEH AH B 25,960 25,960 0
OMYEXe gHse GXNALAE 2
330,000& »12& 3,960
O&AZt Hi=sg: dA2clAAE 29
22,000,000& » 14! 22,000
405 TtabF S| 20,000 0 20,000
01 et EFSFHSHI 20,000 0 20,000
OMExtE X =F&HHl wH 20,000
—50E X2 (POA) WA
2,000,000& =10CH 20,000
N2 &= 57,422 58,194 ATT2
201 Let24d] 15,872 15,872 0
01 At 22l 15,872 15,872 0
Oget==EH| 15,872
—QoEJ =4l 220,000 *24CH *40% 2,112
—QoEJ A2F 7L 500,000& »24CH 12,000
—Ne= HADIM 7
44,0003 =408 A 1,760
303 L&t 3 5,250 9,222 A3,972
01 243 5,250 9,222 N3,972
OBHEE Hol+e B4 Z43
500,000,000 *1/20%5% 1,250
OBt Al - & MEXE0 e XA E=FE
Zaz 40,000,000& *10% 4,000
403 Ut SHHSA=0l& 27,500 26,500 1,000
02 S| 2 S0il CH &HCH & A B 27,500 26,500 1,000
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cel UEME &9 (el & e)
SA - BB B () - MM - BES Ol &t o San HmEET
OMe=LEHEAAHE 29 27,500,000 *12] 27,500
405 XtAtE SHI 8,800 6,600 2,200
01 AL EFH S 8,800 6,600 2,200
OL=0o&)| WA =< 2,200,000 =4 CH 8,800
INE =0 X At 142,211 131,596 10,615
101 14 Hl 43,998 39,209 4,789
04 JIZHHZ2XREE S 43,998 39,209 4,789
OMNEFEIIA T AL AtH OISR 40,227
— o2 45,0003 «1H 23 =+31L 32,085
— ZHAY| 2,000 x23H *31 *23] 2,852
- &5 45,0003 #23% x4 4,140
— WSl 50,000& «23H «1& 1,150
OME=EDtA XA 218 Bz 3,771
— IRz RES 32,085,000& *4.5% 1,444
—d2AEEE BE= 32,085,000 *3.04% 976
- 1228z BE= 32,085,000& *1.5% 482
—MTHEEE BE= 32,085,000& *2.508% 805
~LURIQY PHE 2YD
976,000 x6.55% 64
201 Let2d] 94,613 88,787 5,826
01 At 22l 91,193 85,925 5,268
Oget=&H| 85,453
—HEFEItA SHME 200,000 «110H = 2,200
— ORI AFBOA BELLE
6,098& *23,000% *50% 70,127
—OHEFEEIIH ANEE FEL4E
7,620% *100Z *50% 381
— N ESIH O|MNEINE AELAR
25,4103 *100= *50% 1,271
—HEFEIIH N L SHTAE HrolH
- 4,000 x150H 600
—WYFUINA TN EUR 2UBT 7
29,7003 20t A 594
—HEFEIA 222 L2t 100& *30,00004 3,000
—HYFEIA ZAR 2NN PY
20,000 58t A 123 1,200
—HEFEIIA AHESNS M
60,0003 208 A 1,200
—HEFEIA AL E EEE SHIIHE AW
B 50,000 *100H 2 *23] 1,000
—OHEFSINATA EUS ¥ 2
250,000& 4 1,000
—ZetdoNEeH HEXN 7Y
960,000 »1CH »32] 2,880

_6_




M N
g M HE 22

ool KEME = (crel: @ el)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o2g8+g 3,640
o EY PEEE s
70,0003 x6H #23] 840
—STA SSATIIIAL SAEM g
70,0003 «10H 43 2,800
O= &l 2,100
— WY FETIA TA ER OHAY)
7,000& *3E «103]«10& 2,100
02 =224l 3,420 2,862 558
032322 %2 HA 1,620
—HEFEIA JAME & 012 S
2 ¢85 sI=sEz 2,700& 60024 1,620
OA&ZEHl s Xl 1,800
—jEFe Haco Dzl SNES
1,800,000& 14 1,800
202 Oddl 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
OMNE=EDIA T A O HI
20,0003 «3H x5 «12& 3,600
HY2FZH (ME D) 129,561 171,076 A41,515
Jl2ZH (MZE ) 129,561 171,076 A41,515
JI2ZHI(MZE ) 129,561 171,076 241,515
201 Let24d] 65,127 68,892 A 3,765
01 At 22l 65,127 68,892 A 3,765
Ogt==&H| 35,139
—JIE2MREEH 100, 000& «51H 5,100
— SAJl X2 400,000& *2CH+63] 4,800
—SANEX P 20,0003 x30 A 128 7,200
—HglH & A 2 (EUTY S)
237,000 »15CH 53] 17,775
—olRiol Mg wead| g2
22,0002 128 264
O= &l 29,988
—HEZESR =3 AL
7,000 «51 +53«12& 21,420
—HEXY odHsE EX S200AY|
7,000& «51H 23|« 128 8,568
202 04 Hl 59,520 91,892 N 32,372
12O 59,520 91,892 N 32,372
OXZAN 28 208
20,0003 *31H «83| x12& 59,520
203 ¥R =&l 4,914 4,752 162
04 FEANSEH =L 4,914 4,752 162




2A D
F2g2d (MED)
2

Ha: @y
Sl JI=2AH(MED)

% 5 - 4
SA - BB B () - MM - BES Ol &t o e
OM&E 455,000 « 12 *90% 4,914




